# NON-NEGATIVE RADIAL SOLUTION FOR AN ELLIPTIC EQUATION

Yang Guoying (Department of Mathematics, Southeast University, Nanjing 210018, China) (E-mail: yguoy1002@163.com) Guo Zongming (Department of Mathematics, Donghua University, Shanghai 200051, China.) (Received Nov. 28, 2003)

**Abstract** We study the structure and behavior of non-negative radial solution for the following elliptic equation

 $\Delta u = u^{\nu}, \quad x \in \mathbb{R}^n$ 

with 0 < ν < 1. We also obtain the detailed asymptotic expansion of u near infinity.</li>
Key Words Structure; singular solution; regular solution; asymptotic expansion.
2000 MR Subject Classification 35J60, 35B40.
Chinese Library Classification 0175.25, 0175.29.

# 1. Introduction

In this paper, we consider the structure and behavior of non-negative radial solution of the following nonlinear equation

$$\Delta u = u^{\nu}, \quad x \in \mathbb{R}^n, \quad 0 < \nu < 1.$$
(1.1)

Problem (1.1) appears in several applications in mechanics and physics, and in particular can be treated as the equation of equilibrium states in thin films. For backgrounds on (1.1), we refer to [1 - 7] and the references therein.

The Cauchy problem

$$\begin{cases} u_t = \Delta u + u^p, \quad x \in \mathbb{R}^n, \quad t > 0, \quad p > 1, \\ u_{t=0} = \phi \in C_0(\mathbb{R}^n) \equiv C(\mathbb{R}^n) \cap L_\infty(\mathbb{R}^n), \quad \phi \ge 0, \quad \phi \ne 0 \end{cases}$$
(1.2)

has been studied by many authors ([8 - 12]). The structure and expansion of the nonnegative radial solution of the steady-state problem of (1.2) also have been studied in [12, 13]. The author also refers to [14, 15] when this paper is in preparation.

### 2. Structure and Behavior

**Definition 2.1** We say that u is a regular solution of (1.1) if  $u \in C^2(\mathbb{R}^n)$  and u satisfies (1.1). We call u a singular solution of (1.1) if  $u \in C^2(\mathbb{R}^n \setminus \{0\}) \cap C(\mathbb{R}^n)$  satisfies (1.1) in  $\mathbb{R}^n \setminus \{0\}$  with non-removable zero at x = 0.

In the follows, we set

$$\delta = \frac{2}{1-\nu}, \qquad L = \left[\delta(\delta+n-2)\right]^{\frac{1}{\nu-1}}.$$

**Proposition 2.2.** When  $0 < \nu < 1$ , all nontrivial non-negative radial regular solutions of (1.1) are included in a family  $\{u_{\alpha}\}_{\alpha>0}$  with  $u_{\alpha}$  being the unique positive solution of the problem

$$\begin{cases} u'' + \frac{n-1}{r}u' = u^{\nu} & in \quad (0,\infty), \\ u(0) = \alpha, & u'(0) = 0. \end{cases}$$
(2.1)

 $u_{\alpha}$  is increasing in r,  $r^{2/(\nu-1)}u_{\alpha}(r) \rightarrow L$  as  $r \rightarrow \infty$  and  $u_{\alpha}(r) = \alpha u_1(\alpha^{(\nu-1)/2}r)$ . Moreover, the only radial singular solution of (1.1) is

$$u_0(r) = Lr^{2/(1-\nu)}$$

**Proof** We can obtain the result by phase plane analysis, see [16]. Assume u is a nontrivial non-negative radial solution of (1.1). Let

$$r = |x|, \quad t = -\ln r, \quad v(t) = r^{-\delta}u(r).$$
 (2.2)

By  $u_r$  and  $u_{rr}$ , then we have

$$u_{rr} + \frac{n-1}{r}u_r = r^{\delta\nu}v^{\nu},$$

i.e.,

$$v'' - (2\delta + n - 2)v' + (\delta^2 + n\delta - 2\delta)v = v^{\nu}.$$
(2.3)

Let q(v) = v'(t), then  $v_{tt} = \frac{dq}{dv}q$ . Denote  $C_0 = 2\delta + n - 2$  and by (2.3) we have  $q\frac{dq}{dv} - C_0q + v(L^{\nu-1} - v^{\nu-1}) = 0.$  (2.4)

On  $(v, v_t)$  plane, we know (L, 0) is the only unstable equilibrium point, which implies  $v(t) \to L$  as  $t \to -\infty$ . That is

$$\lim_{r \to \infty} r^{-2/(1-\nu)} u(r) = L.$$

If  $u_{\alpha}(0) = \alpha > 0$ , by scaling invariance, we have  $u_{\alpha}(r) = \alpha u_1(\alpha^{(\nu-1)/2}r)$ . All solutions of (1.1) form a one-parameter family of solutions.

We can obtain that  $r^{n-1}u_r$  is increasing in r since  $(r^{n-1}u_r)_r = r^{n-1}u^{\nu} \ge 0$ . It follows that  $r^{n-1}u_r \ge 0$ . So u is increasing in r.

If u(0) = 0, from above we know  $u_r \ge 0$  and  $r^{n-1}u_r \to 0$  as  $r \to 0$ . Noting that

$$r^{n-1}u_r = \int_0^r s^{n-1}u^{\nu}(s)ds \le u^{\nu}(r)\int_0^r s^{n-1}ds = \frac{1}{n}u^{\nu}(r)r^n,$$

we have  $u_r u^{-\nu}(r) \leq \frac{r}{n}$ . Now integrating over (0, r), we see that

$$\int_0^r u_r u^{-\nu}(s) ds \le \int_0^r \frac{s}{n} ds,$$

i.e.,

$$u(r) \le Cr^{\delta},\tag{2.5}$$

where C is a constant depending on n and  $\nu$ . We consider the function v defined at (2.2) which satisfies (2.3) and then we know  $v(t) \to L$  as  $t \to -\infty$ . From (2.5), we see that  $v(t) \leq C$  for all t. A simple ODE theory shows that  $v(t) \to L$  as  $t \to +\infty$  (since L is the only positive equilibrium point).

Now multiplying the equation of (2.3) for v(t) by v'(t) and integrating over  $(-\infty, +\infty)$ , we see that

$$\int_{-\infty}^{+\infty} v'' v' - (2\delta + n - 2)(v')^2 + \delta(\delta + n - 2)vv' dt = \int_{-\infty}^{+\infty} v^{\nu} v' dt.$$

Noting the fact  $v(t) \to L$  as  $t \to -\infty$  and  $t \to \infty$ , we obtain

$$-(n+2\delta-2)\int_{-\infty}^{+\infty} (v'(t))^2 dt = 0,$$

which implies  $v(t) \equiv L$ . Thus  $u = u_0(r) = Lr^{2/(1-\nu)}$ .

**Proposition 2.3** Assume  $\bar{u}$  ( $\underline{u}$ ) is a radial regular super-solution (sub-solution) of (1.1). If  $u_{\alpha}$  is a positive radial regular solution of (1.1), then for any  $\theta > (<)1$ ,  $\bar{u}$  ( $\underline{u}$ ) cannot stay above (below)  $\theta u_{\alpha}$ .

**Proof** Suppose that  $\bar{u} > \theta u_{\alpha}$ , let  $v(t) = \frac{\bar{u}(r)}{u_{\alpha}(r)}$ ,  $t = \ln r$ , then v > 1 and

$$v''(t) + \left(\frac{2ru'_{\alpha}(r)}{u_{\alpha}(r)} + n - 2\right)v'(t) + r^2u^{\nu-1}_{\alpha}(r)(v - v^{\nu})(t) < 0 \quad on \ (-\infty, \infty).$$
(2.6)

Denote the coefficient of v' by  $g_1(t)$ . By (2.6) and the fact v > 1,  $v'' + g_1(t)v' < 0$ . Hence

$$\exp\left\{\int_0^t g_1(s)ds\right\}v'(t) \le \exp\left\{\int_0^\tau g_1(s)ds\right\}v'(\tau) \quad \text{if } t \ge \tau.$$
(2.7)

In fact,  $(\exp\{\int_0^t g_1(s)ds\}v'(t))' < 0$ . Since  $ru'_{\alpha}(r) \to 0$  as  $r \to 0^+$ , we have  $g_1(t) \to n-2$  as  $t \to -\infty$ . It follows from the fact  $v(t) \to \frac{\bar{u}(0)}{u_{\alpha}(0)}$  as  $t \to -\infty$  that there exists a

sequence  $t_m \to -\infty$  such that  $v'(t_m) \to 0$ . Now in (2.7), letting  $\tau = (t_m) \to -\infty$ , we have either v' < 0 on  $(-\infty, +\infty)$ ) or  $v' \equiv 0$  (A priori,  $v'(t) \leq 0$  and if there exists  $t_0$ such that  $v'(t_0) \leq 0$ , then by (2.7) again v'(t) < 0 if  $t \geq t_0$ . Hence the strict inequality in (2.7) must be true which in turn implies that v' < 0 on  $(-\infty, +\infty)$ . But by (2.6) and v > 1 we see that  $v' \equiv 0$  is impossible. Since v' < 0 we have for a large T and some constant C > 0,

$$v'' + g_1(t)v' \le -C \qquad if \qquad t \ge T,$$

which implies that v = 0 at some  $t_0$ . This contradicts the fact v > 1.

Another case can be proved similarly.

# 3. Expansion Near Infinity

In this section, we study the expansion of u near infinity which is the non-negative radial solution of (1.1) for  $n \ge 3$ .

Noting that  $\delta = \frac{2}{1-\nu} \in (2,\infty)$ , we have

$$(2\delta + n - 2)^2 - 8(\delta + n - 2) > 0.$$

Therefore, the solutions of the equation

$$\sigma_{tt} + (2\delta + n - 2)\sigma_t + 2(\delta + n - 2)\sigma = 0$$
(3.1)

can be written as linear combinations of  $e^{-\lambda_1 t}$  and  $e^{-\lambda_2 t}$ , where

$$\lambda_1(\nu, n) = \frac{2\delta + n - 2 - \left[(2\delta + n - 2)^2 - 8(\delta + n - 2)\right]^{1/2}}{2} > 0$$
(3.2)

and

$$\lambda_2(\nu, n) = \frac{2\delta + n - 2 + \left[(2\delta + n - 2)^2 - 8(\delta + n - 2)\right]^{1/2}}{2} > 0$$
(3.3)

are two roots of

$$\lambda^2 - (2\delta + n - 2)\lambda + 2(\delta + n - 2) = 0.$$
(3.4)

To study the behavior of the solutions of (3.1), we consider three cases: (a)  $2\delta + n - 2 - 2\lambda_1 < \lambda_1$ , (b)  $2\delta + n - 2 - 2\lambda_1 = \lambda_1$ , (c)  $2\delta + n - 2 - 2\lambda_1 > \lambda_1$ .

If (a) occurs, we have

$$2\delta + n - 2 - 2\lambda_1 = \left[(2\delta + n - 2)^2 - 8(\delta + n - 2)\right]^{1/2} < \frac{1}{2}(2\delta + n - 2) - \frac{1}{2}\left[(2\delta + n - 2)^2 - 8(\delta + n - 2)\right]^{1/2},$$

i.e.,

$$(2\delta + n - 2)^2 < 9(\delta + n - 2)$$

and

$$4\delta^2 + (4n - 17)\delta + (n - 2)(n - 11) < 0.$$
(3.5)

This equation has two roots:

$$\delta_1 = \frac{17 - 4n - 3(8n - 7)^{1/2}}{8},$$

$$\delta_2 = \frac{17 - 4n + 3(8n - 7)^{1/2}}{8}.$$

We easily know that

$$\delta_1 < \delta < \delta_2.$$

So, if  $\delta_1 < \delta < \delta_2$ , then  $2\delta + n - 2 - 2\lambda_1 < \lambda_1$ . Thus we know from (4.28) of [15] that any solution  $\sigma(t)$  of (3.1) satisfies

$$\sigma(t) = \begin{cases} a_1 e^{-\lambda_1 t} + O(e^{-\lambda_2 t}) & \text{if} \quad \delta_1 < \delta < \delta_2, \\ a_1 e^{-\lambda_1 t} + O(t e^{-2\lambda_2 t}) & \text{if} \quad \delta = \delta_2, \\ a_1 e^{-\lambda_1 t} + O(e^{-2\lambda_2 t}) & \text{if} \quad \delta > \delta_2. \end{cases}$$
(3.6)

It is straightforward to show that for  $n \ge 3$  there exists an infinite sequence  $\nu_k < \nu_{k+1} < \cdots < 1$  such that  $\lambda_2(\nu, n) = k\lambda_1(\nu, n)$  if and only if  $\nu = \nu_k(n)$ , where [a] = the largest integer which is smaller than a + 1. It is not hard to see that

$$\nu_k = \frac{n+2-z_k}{n-2-z_k}, \quad k \ge \left[\frac{n}{2}\right],$$

where  $z_k$  is the only zero of h(z) - k = 0 and the function

$$h(z) = \frac{[z + (z^2 - 4z - 4(n-2))^{1/2}]^2}{4(z+n-2)}, \qquad z \in [n+2,\infty)$$

is strictly increasing in  $[n+2,\infty)$ . It is also possible to give a more explicit expression for  $\nu_k(n)$ . To this end we set  $y = 2\delta + n - 2 > n + 2$ . Then  $\lambda_2 = k\lambda_1$  if and only

$$k = \frac{\lambda_2}{\lambda_1} = \frac{y + (Y(y))^{1/2}}{y - (Y(y))^{1/2}},$$

which is equivalent to

$$\frac{k-1}{k+1} = \frac{(Y(y))^{1/2}}{y} = \left[1 - \frac{4}{y} - \frac{4(n-2)}{y^2}\right]^{1/2},$$
(3.7)

where Y is defined

$$Y(y) = y^2 - 4y - 4(n-2).$$

Squaring both side of (3.7) and multiplying by  $y^2$ , we obtain

$$\left[1 - \left(\frac{k-1}{k+1}\right)^2\right]y^2 - 4y - 4(n-2) = 0.$$
(3.8)

Now  $\nu_k(n)$  may be obtained by solving y explicitly (in fact, we can obtain  $z_k = y$ ). Incidentally, the fact that  $k \ge \frac{n}{2}$  also follows easily from (3.7) since y > n+2 and then

$$\frac{k-1}{k+1} \ge \frac{(Y(n+2))^{1/2}}{n+2} = \frac{n-2}{n+2}.$$

Thus,  $k \ge \frac{n}{2}$ .

It follows from Proposition 2.2 that if u is a non-negative radial solution of (1.1), then  $\lim_{r\to\infty} r^{-\delta}u(r)$  must always exist. Now we derive a more detailed asymptotic expansion of u near infinity.

**Theorem 3.1** Let u be a non-negative radial solution of (1.1) and  $\lim_{r\to\infty} r^{-\delta}u(r) > 0$ . Then the following statements hold:

(i) For 
$$\nu = \nu_k(n), \ k \ge \left[\frac{n}{2}\right]$$
, we have  $\lambda_2 = k\lambda_1$  and, near infinity,  

$$u(r) = Lr^{\delta} + a_1r^{\delta - \lambda_1} + \dots + a_{k-1}r^{\delta - (k-1)\lambda_1} + a_kr^{\delta - k\lambda_1}\ln r + br^{\delta - \lambda_2} + \dots + O(r^{-(n+2-\epsilon)}).$$
(3.9)

(ii) For  $\nu_k < \nu < \nu_{k+1}(n)$ ,  $k \ge \left[\frac{n}{2}\right]$ , we have  $k\lambda_1 < \lambda_2 < (k+1)\lambda_1$ , and, near infinity,

$$u(r) = Lr^{\delta} + a_1 r^{\delta - \lambda_1} + \dots + a_k r^{\delta - k\lambda_1} + br^{\delta - \lambda_2} + cr^{\delta - (k+1)\lambda_1} + \dots + O(r^{-(n+2-\epsilon)}).$$
(3.10)

The constant  $L = [\delta(n + \delta - 2)]^{1/(\nu-1)}$  and is independent of the particular solution u. The coefficients  $a_2, a_3, \dots, a_n, \dots$  are uniquely determined once  $a_1$  is determined. Moreover, once  $a_1$ , b are determined then all the coefficients in (3.9) and (3.10) are uniquely determined.

**Proof** We start with the proof of (ii). The proof is closely related to the proof of Theorem 2.5 of [3, 9]. First, we know from Proposition 2.2 that

$$\lim_{r \to \infty} r^{-\delta} u(r) = L.$$

Setting  $t = \ln r$ ,  $w(t) = r^{-\delta}u(r) - L$ , we see that w satisfies the equation

$$w_{tt} + (2\delta + n - 2)w_t + 2(\delta + n - 2)w(t) - g(w) = 0, \quad t \ge t_0 = \ln R \tag{3.11}$$

and  $g(\tau) = (\tau + L)^{\nu} - L^{\nu} - \nu L^{\nu-1} \tau$  satisfies

$$g(\tau) = \frac{\nu(\nu-1)}{2}L^{\nu-2}\tau^2 + O(\tau^3) \quad \text{for } \tau \text{ near } 0.$$
(3.12)

By standard arguments it follows that

$$w(t) = a_1 e^{-\lambda_1 t} + b e^{-\lambda_2 t} + \frac{1}{\lambda_1 - \lambda_2} \int_{t_0}^t \left( e^{\lambda_2 (s-t)} - e^{\lambda_1 (s-t)} \right) g(w(s)) dt', \qquad (3.13)$$

where  $a_1$ , b are two constants. Notice that  $-\lambda_1$ ,  $-\lambda_2$  are the roots of the characteristic polynomial of the linear part of (3.11), where  $\lambda_1$  and  $\lambda_2$  are in (3.2) and (3.3). For each positive integer  $M \ge 2$ ,  $g(\tau)$  admits the following expansion

$$g(\tau) = d_2\tau^2 + d_3\tau^3 + \dots + d_M\tau^M + O(\tau^{M+1})$$
(3.14)

near  $\tau = 0$ , where the constants  $d_2, d_3, \dots, d_M$  depend only upon  $\nu$  and n. When  $k \ge \left\lceil \frac{n}{2} \right\rceil$ ,  $(n \ge 3)$ , we have from (3.6) that (since  $\lambda_2 > 2\lambda_1, 2\delta + n - 2 - 2\lambda_1 > \lambda_1$ )

$$w(t) = a_1 e^{-\lambda_1 t} + O(e^{-2\lambda_1 t})$$
(3.15)

near  $t = \infty$ . Substituting (3.14) and (3.15) into (3.13) we obtain

$$w(t) = a_1 e^{-\lambda_1 t} + b e^{-\lambda_2 t} + \frac{1}{\lambda_1 - \lambda_2} \int_{t_0}^t (e^{\lambda_2 (s-t)} - e^{\lambda_1 (s-t)})\varphi(s) ds$$
  
=  $a_1 e^{-\lambda_1 t} + b e^{-\lambda_2 t} + \frac{1}{\lambda_1 - \lambda_2} \left\{ \int_0^t e^{\lambda_2 (s-t)}\varphi(s) ds - \int_0^{t_0} e^{\lambda_2 (s-t)}\varphi(s) ds \right\}$   
 $-\frac{1}{\lambda_1 - \lambda_2} \left\{ \int_{t_0}^\infty e^{\lambda_1 (s-t)}\varphi(s) ds - \int_t^\infty e^{\lambda_1 (s-t)}\varphi(s) ds \right\}$   
=  $a_1 e^{-\lambda_2 t} + a_2 e^{-2\lambda_1 t} + O(e^{-\min(3\lambda_1, \lambda_2)t}),$  (3.16)

where  $\varphi(s) = d_2 a_1^2 e^{-2\lambda_1 s} + O(e^{-(\lambda_1 + 2\lambda_1)s})$ , positive constant  $a_2$  depends only on  $a_1$ ,  $\nu$  and n. Substituting (3.16) and (3.14) into (3.13), by similar computation, after (k-1) steps we arrive at

$$w(t) = a_1 e^{-\lambda_1 t} + a_2 e^{-2\lambda_1 t} + \dots + a_k e^{-k\lambda_1 t} + O(e^{-\lambda_2 t})$$
(3.17)

near infinity, where  $a_2 = a_2(a_1, \nu, n)$ ,  $a_k = a_k(a_1, \nu, n)$ . Repeating this process once more, we obtain

$$w(t) = a_1 e^{-\lambda_1 t} + a_2 e^{-2\lambda_1 t} + \dots + a_k e^{-k\lambda_1 t} + b_1 e^{-\lambda_1 t} + O(e^{-(k+1)\lambda_1 t})$$
(3.18)

near infinity. Now iterating the above process with (3.18), (3.14) into (3.13) after finitely many steps (with the integer M in (3.14) getting larger each time) we arrive at, for each positive integer  $\ell$ ,

$$w(t) = \sum_{i=1}^{\ell+k} a_i e^{-i\lambda_1 t} + \sum_{j \in J} b_j e^{-j\lambda_2 t} + \sum_{(i,j) \in I} c_{ij} e^{-(i\lambda_1 + j\lambda_2)t} + O(e^{-(\ell\lambda_1 + \lambda_2)t}), \quad (3.19)$$

where

$$J = \{j \in Z : j \ge 1, j\lambda_2 < \ell\lambda_1 + \lambda_2\},\$$
  
$$I = \{(i, j) \in Z \times Z : i \ge 1, j \ge 1, i\lambda_1 + j\lambda_2 < \ell\lambda_1 + \lambda_2\}$$

and  $a_i$  depend only upon  $a_1$ ,  $\nu$ , n,  $b_j$  depend only upon  $b_1$ ,  $\nu$ , n, and  $c_{ij}$  depend only upon  $a_1$ ,  $b_1$ ,  $\nu$ , n. (Here Z=the set of all integers.) Taking  $\ell$  large enough and then substituting (3.19) into  $w(t) = r^{-\delta}u(r) - L$ , we obtain (3.10).

Part(i) may be proved similarly by the arguments above together with the proof of Lemmas 4.3 and 4.4 in [15].

**Remark** Theorem 3.1 is stated in a special way with the forms of expansions (3.9) and (3.10). The expansion of u near infinity may have more general forms. In particular, it is clear from the proof above what the missing terms in (3.9) and (3.10) are. Moreover, it is also clear from the proof above that the expansions (3.9) and (3.10) do not have to stop at  $O(r^{-(n+2-\epsilon)})$ , they can go on to an arbitrarily high order.

**Acknowledgment** The first author is grateful to Professor M. X. Wang for his important comments and suggestions when this paper is in preparation.

#### References

- Bertozzi A L, Pugh M C. Long-wave instabilities and saturation in thin film equations. Comm. Pure Appl. Math., 1998, 51(6): 625-661.
- [2] Bertozzi A L, Pugh M C. Finite-time blow-up of solutions of some long-wave unstable thin film equations. *Indiana Univ, Math. J.*, 2000, 49(4): 1323-1366.
- [3] Chou K S, Guo Z M, Wei J. On the Cauchy problem for a reaction-diffusion equation with a singular nonlinearity. Preprint.
- [4] Laugesen R S, Pugh M C. Properties of steady states for thin film equations. *Europ. J. Appl. Math.*, 2000, 11: 293-351.
- [5] Laugesen R S, Pugh M C. Lineae stability of steady states for thun film and Cahn-Hilliard type equations. Arch. Ration. Mech. Anal., 2000, 154: 13-51.
- [6] Sattinger D H. Monotone methods in nonlinear elliptic and parabolic boundary value problems. *Indiana Univ. Math. J.*, 1972, 21: 979-1000.
- [7] Witelski T P, Bernoff A J. Dynamics of three-dimensional thin film rupture. *Physica D.*, 2000, **147**: 155-176.
- [8] Fujita H. On the blow up of solutions of the Cauchy problem for  $u_t = \Delta u + u^{1+\alpha}$ . J. Fac. Sci. Tokyo Sect. IA Math., 1966, 13: 109-124.
- [9] Gui C, Ni W M, Wang X F. On the stability and instability of positive steady states of a semilinear heat equation in ℝ<sup>n</sup>. Comm. Pure Appl. Math., 1992, 45: 1153-1181.
- [10] Kaplan S., On the growth of solutions of quasilinear parabolic equations. Comm. Pure Appl. Math., 1963, 16: 305-333.
- [11] Lee T Y, Ni W M. Global existence, large time behavior and life span of solutions of semilinear parabolic Cauchy problem. *Trans. Amer. Math. Soc.*, 1992, **333**: 365-371.
- [12] Wang X F, On the Cauchy problem for reaction-diffusion equations, Trans. Amer. Math. Soc., 1993, 337(2): 549-590.

- [14] Atkinson F V, Brezis H, Peletier L A. Nodal solutions of elliptic equations with critical sobolev exponents. 1990, J. Diff. Eqns., 85: 151-170.
- [15] Ni W M. On the elliptic equation  $\Delta u + K(x)u^{\frac{n+2}{n-2}} = 0$ , its generalizations and applications in geometry. *Indiana Univ. Math. J.*, 1982, **31**: 493-529.
- [16] Chou K S, Guo Z M, Wei J C. Symmetry of positire solutions of a semilinear elliptic equation with singular nonlinearity. Preprint.